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Chapter 8

Torque and angular momentum

Problems


1.
I has units 
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 which is a unit of energy.

13.
The point of application of the force of gravity is at the geometrical center of the door, so 
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 The force is equal to the weight of the door.
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25.
(a)
Choose the axis of rotation at the point at which the right-hand cable connects to the platform. Let 
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 Let l = 5.0 m.
The system is in equilibrium.
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 so 
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(b)
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33.
Palms:
Choose the axis of rotation at the point of contact between the floor and the man’s feet.
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Feet:
Use Newton’s second law.
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49.
Solid sphere:
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Solid cylinder:
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Hollow cylinder:
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61.
Use conservation of angular momentum.
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73.
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85.
(a)
Use conservation of angular momentum.
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(b)
Before:
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After:
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